7,14,21,28,---
21,42,63,84,- -
® 7,14,21,28 @ 17,14,21,28,---
® 21,42,63,84 @ 21,42,63,84,- -

® 147,294, 441,588, - - -







3.

% uni) gt e s

@© 3+ (-4) -5+ (+8)
® (-5)+ (+8) - (+4) + 3

® (+3)-(-1)-5+3

@ (-7)—(+4)+3+10

@ (-10)+ 104 (-2) +3



4.

= AolA At &4 F

LEEEEE RS

2+%><{(18—15+5)><2}
| 7 [
1 ) S ) Y = |m |
@ A o L @ @ = ® o




5. xe+hE A EE ARslel depE?



6. (2a+b) - (a—%b) = 71t}5]

Sk A9
3
®2a+3b ®2a_3b @a+§b
3 3
@ a-3b ® -a+ b



3 2 @ 4 ® 5

@ 0



54 ax+2= dv-b 7k RE x] ool B4 3
Hstel ab © -7

@D =10 @ -8 3 -3 @ 8



bol a4 B 6 Aol

]

@D 15 9]

@ 72 &0l

ol

ol



24 0| 7 2 AA% 0 B Foto] ol 45 b o AFo] HES
S, atb | A

@D 2 @ 6 ® 9 @ 12 ® 18



11. 882 o] ob40] |40k 2x 57 x 72 9] ok0] |47} g ), A% x
o] gt 9

@D 5 @ 4 3 3 @ 2 B 1



12. TT22><3 A 9] U FokTt 23, FAFESTT 22 x3x 7 Q o,
“Fotofet,

s
=¥



13.

g 218 WESHE A5 a, b, ¢ 9] Y4 TAE vt27 Yerd

e a ™ b RT}F A7 gt
e g = Ht}y At

@ c<ax<b @ c<a<b

@ c<b<a B c<a<b

® c<b<a




jant

ol

o|J

o
Tor
Tod
ofu

Eo
T

a4o]ct,

bae 257t 19l o

G o]

® Ao}

7} 7F

2~
T

oA 2



x—4- (%x—(&), {x-3(7-3x)-1} +2




16. oFg F P4 sk 22 W, 0 o g2

0.03x = —0.2(1.2x - 2.7)
3a+2(x-2)=1-4x

@

DO | o

1
@ 9 9




17.

1

o

]_

ol

o J
o R
e == H

AE7HNA LA BES 1 A4 1600 94 o A Bt
25 GAA Bekely oA 9] 4 HisL B §F Fo
B 7140 Y& T5HA?

@ 1080 ¢ @ 1180 ¢ @ 1280 ¢
@ 1380 ¥ B 1480 ¥



O3 5 97 29x 33 x 52, 25 x 3% x 5911 O] | AFal|57} 25 x 33 x 54+
d o, o= T AL a7t 2 5 fle A2



Felzt.

S

B0 A8 7



20. Al G35 a, b, col Sl a<0, axb<0, bxec< 0L o, ot
]_

@ a-b<0 @ b-c>0 ® a+c<0

@ axce>0 B axbxc<0



21.

LA 3(x—6) = kx+2 O] Sf7F 5 A of,
o3 22 5419 4L o] 8okt AHE-
=2t (S, m, n, p, g F A7)

a1
1=

@a=bolHa+m=b+m

i
ot lo
a1

e
i fijo
N H
o o
=3
b do
_m ol

©a=bolHa-n=b-n

© a=bolHap=>bp

) d:bo]tﬂg*l;(q;t())

<

=
-
SR

=%



10% 9] 2 8E 200g° & xg 9ol 8% 2 A7 =2 WS o, th2
B2 Y7 A3 Yo Go] AFo] e A5t S o]-g5)
W AS A& Aot} Hl o] 5017 dute =245 Az},

£ rlo



ZS7HA] gt dEjHlo]E = 12 Butt}, 1 FolA B &
7] EYshe AlHolel & 15 Bultt, 1 oA C $7H4] st
£ 18 Buttt 1 Fof|lA] Fo] It A AjHo]e]7} A

SO A ST LR 412] GEa eS| A gttt S
E|7} 1 SoA 5 AR F Ao #o] 7l =717t

°l

A

A S7H 2ste delHolE ot B S7HA] 23 sks d=|HolH T
Aol 1 FolA 2ol el S5E Fotol=t

B e 3]



24. (x-1):y=3:4 4 o, x,y o] HA&FH|57} 56 ©o|tt. x,y 9] Hh%
45 Fafoi

s
=¥



shelat.

q_

O
=

1-m? 9] gt



